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Section [ - Statistics
Part A (5 marks)- Multiple Choice '
. Marks
For Questions 1 - 5 circle the most correct answer,
. 1. The shape of the statistical distribution in the dot plot can hest be described as:
(A) Bivariate . -
o &
(B) Positively Skewed 0 0
. L I )
{C): Negatively Skewed ¢ o000 -
() & d . . e o 80 0
®) Symmetrical A VA A A
2. The interquartle range in this set of data is:
Stem | Leaf = }
5 1o 12 o @ 715
6 [35.889 99 (B) 42
7 |4 366 B
8 |01 37 © 17
EEN S @) 125
l 13. The relationship between the variable x and y in the scatter plot could best be
described as: ‘ '
1
4 - & (A)  Nocorrelation
2
) @.‘" ® B Astrong positive correlation .
]
- ® © A strong negative correlatien
R L (D) . Aweaknegative corfelation
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Section I Part A continued Marks
4. For the three sets of statistical distributions shown in the graphs, which one has

5.

the greatest standard deviation?

Set |

Frequency
o N R oy oo
: -

1

Set3

Frequancy

O b

(A) Setil
(B) Set2

(C) Set 3

Score-

(D) They all have the same standard deviation.

X represents the Jowest score in the given distribution, Which value of X would be

considered an outlier?

X, 49,53,53,57, 62, &2, 65, 66, 68,70, 74, 75

(&) 32
(B) 30
(cj 28

(D All of the above

End of Section ] Part A
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Section I continued

Part B (20 marks) - Show all necessary workmé in the space provided. If there is

6.

7.

insufficient space use the space on page 2 clearly 1nd1catmg the Section, Partand

Question Number.

These two questions are from a survey to he gﬁven to a group of Year 10 students

from a Sydney High School.

A What is your height in centimires?

Marks

B How would you rate the current school umform"
Poor Below Good Above Excellent
Average Average

Describe the type of data that each of theseqiiestions would generate

A

B

The following scores are the heights in centimetres of thirty Year 9 students. Thcy

have heen arranged in a Stem and Leaf Plot,

Stem

Leaf

12
13
14
15
16
17
18

) Describe the shape of the distribution

3

N O O T N

s



8¢ Georga Girls High School

St George Girls Figh School ' Year 10 Mathematles ~ Commaon Test 3~ 2017 Page 7
Yenr 10 Mathematics ~ Common Test 3 -2017 i Pape 6 :

. _ ' : Section I Part B continued : Mark
Section I Part B Question 7 continued Mark .

. 9,  The testresults for a class of 30 students are as follows: '
h) Are there any outliers? If there are outliers name them. ‘ .

1 Boys | 78 | 73 | 58 [ 79 [ 60 [ 46 | 71 | 64 |37 | 79 | 55 | 59 | 87 | 68 | 27
Girls } 70 139 [ 80 | 73 [ 61 | 68 |84 | 60 [ 73] 60549 |69 63|59
~ o 3 tand. ati ; i ce of
¢) Where does c]ustering ‘-)cm:lrt? | ‘ ) | 5.1) ;r;i ;?19 mean and standard deviation correct to one decimal place of each
¥ 4
d) Find the mode, median and range of this distribution. .
' A -b) Whi in the test? Gi fi :
8. The number of properties sold per month by a real estate agency over a year b) Which group performed better in the es, Give reasons for your answer . 2
were: - ‘ ‘ ' ' ‘ _ _
Jan | Feb | Mar | Apr | May | Jun | Jul | Aug | Sep | Oct | Nov | Dec |
2 1517 | 41 5] 714 6 | 8 |41 [ & 6
a) Find the five figare summary for this data. :
. : . . 2

f » ' END OF SECTION I
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Section IT - !,inear'Relaﬁgnshigs
Part A (6 marks)- Multiple Choice
‘ ' . Marks
For Questions 1 - 6 circle the most correct answer,
1 Th ! — 2 Simplifies to:
. e expression - — ——— simplifles to:
' 1
. =20
() (2%+1) (3%—7) \
o x—25.... . i
: @), (2x+1)(3%7) ‘
x—6
.(C) x+1)(3x—7)
w11 '
15

(2e+1)(32-7)

2. If the point (@, —2) lies onthe line 2x + 3y = 4, the value of z is;

(A)
(B)

©

™

-3. " The midpoint of the interval joining the points A(—3,—6) and B{4,—9) is:

@)
©

@)

—3

1

Nlw

(1, —15)

3t George Girls High School
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End of Section II Pari A
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Section If Part A continued Marlq
4.  The squation qf aline parallei to the line 2x + 3y = 4 is:
- '(Aj, 2x+3y =5 - '
B 3x+2y=-1-
(C)  3x—2y=7
D) 2x ~ 3y =4-+
5. Solve the simultaneeus equaticns:
| 3x—2y=-5 "
Zz;c + 5y =3
1
{A) x=~1, y=1
®  x=Ly=1
<y, x=-1;y=-1
D  x=3y=7
[
6. Which of these points is in the region defined by 2% 3y > 4 7' .
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Section II continued - Mark
Part B (19 marks) - Show all necessary working in the spéce provided. If there is
insufficient space use the space on page 19 or 20 clearly indicating the Section, Part .
and Question Number. ‘
7. Solve this linear equation:
3
3x+1 3-2x
==y
5 2 -

B. Solve the inequality and graph the solution on the number line:

Fas] £ Dl
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Section I Part B continued Marks
9. a) Fin{i the gradient and y-intercept of the linear relationship sz =-5x+9:
. 2
b) Sketchthe graph of 3y = —5x+9



St George Girls Hiéh Sohool
Year 10 Mathematics — Common Test 3 — 2017 . Page 12
Section II Part B continued Mark:

10. Wﬁte the equation of the line passing through the points 4(-2, S‘D and
B(1L,—-4).

11. Write the equation of the line perpendicalar to the line 2x — 3y = 8 and
passing through the point P(2,—1).

8t George Gixls High éc.hooi : .
Year 10 Mathematics — Common Test 3 - 2017 Page 13

Section If Part B continued, - ' Marlk

12. Seive these simultaneous equations using the substitution method:

y=2x—~5"
3x—2y=8§

P

END OF SECTION It
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Section Il - Geometry

" PartA (3 marks)-; Multiple Choice :
. Marks

For Questions 1 - 3 circle the most correct answer.
1. The test of congruence that proves AABD ‘E ACBD is:
given o 1
£ABD = 2CBD A
2ADB = (DB

(A) RHS

(B) sAS

1 (C) Aas
(D) sss

2. The interior angle sum of a polygon is 6120°. How many sides does the polygon
have?

(A) 30 | .
® 32 |
(©) 34

®) 36

3.  Ifthe size of each exterior angle 6f a regular polygsn js 15°. How many sides
does it have? o :

(A). 24 ~ | e
®) 22
(©) 20

(D) 18

End of Sectign I1I Part A

Bt George Girls Tgh Sohool .
Year 10 Mathematics — Common Test 3 — 2017 Page 15

Section HI continued Mark

Part B (10 marks} ~ Show all necessary working in the space provided. If there is
insufficient space use the space on pages 19 or 20 clearly indicating the Section, Part
and Question Numbear,

4, Determine the value of x giving a reason:

5. Prove this pair of triangles is congruent, giving reasons
' E
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Section IV - Harder Problems

8t George Girls High School . lﬁl
Yoar 10 Mathemntics — Common Test 3 — 2017 Page

Section I Part B continued ~ Mark: _ {12 Marks)
: , ) - Show all necessary working in the space provided, If there is insufficient space use the
6.  Prove two triangles in this diagram are similar and find the value of ¢ giving ) \ space on page 20 clearly indicating the Section, Part and Question Number-
reasons T
7 cm E 9cm D ’ 5, Question 1

The heights and weight of people were measured. Here are the results.
Weight, Wikg |60 . [78 |82 ' 88 90 |94 |75 [66 158 . |65 ‘
Height H(em} (142 168 [ 170 | 184 1180 1188 |170 |158 [150 | 144

a) Graph the points on a scatter plot.

4 <

K

v

! ! . Ve

i ' - . i '
|

b) Construct a line of best fit by eye.

>

c} Find the equation of your line of best fit,

END OF SHCTION I
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Section IV continued : ' Mark

d} Use the gfaph to extrapolate the weight of a person with'_é height of 130cm,

1
&) Use the graph to interpolate the height of a person who weighs 80kg
‘ : . 1
!

Question 2

Five pies and two sausage rolls cost a total of $21, while twao pies and three sausage

rolls cost $13.90. Find the cost of a pie and the cost of a sausage roll.
5

End of Paper
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